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1. 4 sin®15° +cos? 225° +tan® = + ;L 5in 207 e T - A
12 sec“15° 3 3

2.NABC ¥ » LA~ LB~ £Ceti# A b5 a2 boco @ 4 (2a+b—2c)*+|a—2b+c|]=0 , # & sinA:sinB:sinC=_(B)___

3. %% AABC ¥, /A=90°,D,E i BC_} s 2.7 ;% & BD=DE=EC - 3 ftan Z/DAE=_(C)

4. 2—\/573 x* +(tanf + cotd )x—2=0 2 - {2 , R i+i = (D)
tangé coté

5.. % tan6=—% P 90°<0<180°,% cos(0—90°)+tan(180°—6)+sin( 6—-90° )+cot( 6—180°)+sec(270°+6)=_(E)____
6. \ABC ¢ ZA=60" ,/B=45 £ &5 2, #RE& = (F__
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a =sin35°, b =c0s165°, c =sin( —610° ),d= cot315° ,e=cos(—-918°)
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8. 4 sinf-cos@=——= Y sin@cosd 52x°+px+q=0 2413, Fkp’-8q 2 & (1)
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9.¢ 4 NABC z#& abc Au¥EZA 5 h=6h=4h=3 #RAIBC 25



10. FIp 42w 825 ABCD * F5AB=BC=3, CD=5AD=8 #f&w #7) ABD2 # # Q)

11. 4c%® » ~ABC= ~ADC=90°> AB =3 BC =4> CD =+5 » % DH L AB » HIDH =__(K)___ -
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12. % - %> #2578 X¥*+2x—3=0 3 2% tana, tanB, F  3sin’(o+B)—2sin( o+ P )cos( o+ B ) +4cos’(a+P)=__ (L)_
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14. & smx—cosx:§ v 3E R 2sin ?(cos? +sm?) =__(N)

15.¢ seddic f(x)=sin®2x—3sin?x+1 0<x<360° xfk <& __ (O)

16. 4o+ TE » 3 4= 47, ABD ¥ » LA 2% & -C 5 AD £+ E 02 BC =10, AB =9, LCBD=2,/ABC ,
g BD=_(P)
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